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I 7 mwn: method of pnor

a

Consensus:
i If: there are only three, the one invokes by saying 7121
1 If: there are more than 3, the jnm invokes by saying 1372
ii  If there are only 10, the jnm invokes by saying 12pYRY 7123
1  If: there are more than 10, the jnm invokes by saying 1pYx% 1372
2’11 (v7): there is no deviation or addition, regardless of how many more there are
271°7. at each “power of 107, an addition is made:
i 100:p9R 'NY T2
i 1000: Y8997 'pHR 1PHR 1Y 1123
i 10000: 0 27970 2w HRIW? HPHR WPYR ‘1Y T
And: however he invokes, they respond in kind — 158w prnn 5» 07712190 201 YRIW? HPOR WPYR ‘N N2
Sources and argument:
i yvwrv.1l-
it p7m(¥™):—in1"n1, public n%an is invoked with 'n nNR 1971, no matter how many there are (>10)
1 Dissent: YRyn®’ 1 — we say TNnann 'n Nk 1271
2 y”rinterprets v. 1 as alluding to the “song of the unborn” at g7
3 Final ruling: follows y™ (story in Xm?) w*’s house); re: 1271 — mainstream custom is like YRynw’
(a) Note: story about X299 92 B197 in the nvd N’2 in 727 *ar and R27's reaction

II  Analysis:

a

SN81w. ideal to say 7121 and be included in the group — even if there are more than 3 (or 10)
i proof: next nwn — if there are 6, they split up; assumption — 7121 is preferable to 1372
ii  supporting #n»72 13712and 7121 are both acceptable, but the 11371 “catch you” for saying 1372
1 and: one can tell how scholarly a person is by his m>72
(a) 2271101 - scholar; 1210m — ignoramus
(i) Challenge (*0779):v. 2
1. Answer: in requests (as in v. 2) — should be humble and ask for a bit
(ii) Challenge: even in requests, we find a larger request —v. 3
1. Answer: in re: NN a7, it’s allright to be “greedy”
(b) 227 13N 1101 — scholar; D»n 1202 - ignoramus (*®Yan inverted ruling but that inversion is rejected)
() 772500 M9RY 7121 — scholar; Ywn 19IRY MY — ignoramus
(i) Challenge (to »wx 77): in NN, we recite 198N DOIN Y3 NR 1Y YW 'Y (N’ DNDY)
(ii) Answer: in that case, the referent is clear
(d) pr9 772500 15RW P2 - scholar; MYIRY PN HY — ignoramus
(i) 77 /73 N7 7 only with 3; with 10, since we mention o'nw nw (and the responders mention it
also), the object of praise is explicit
Testimony of #27. in kMY Wv1’s house, they would nm by 3; if they would gather 10, the ™ would take offense; if
they tried to participate in the “grand pnn”, it was too noisy to hear
noomn 727 if 3 eat together and one says n”n12 on his own (and stays at the table), the other two may “include”
him in 101 and they fulfill ot — but not he, as there is no retroactive ot (Y1anh 1t PR)

I 7 mwn: dispersing and gathering for pn

a

b

If: 3 ate together, may not split, (nor 4/5) 6 may split (and so on); 10 (+) may not split until they are 20
Justification
i S81pw: teaches that if 3 agreed to sit down, they may not split even if they didn’t yet break bread
1 Or:if 3 sat together, even if they are eating from individual loaves, may not split
ii a1 77 if 3 come from 3 different mman, may not split up
1 ~707 "7 only true if they came from 3 groups of 3 each (1’1 2vn n31)
(a) ~a7 only if the original groups didn’t yet say pmt (including them); else ot has “flown away”
(b) Proof: if a bed is split, it is 1Y (293 NRM PN); if restored- it only gets nkmv from here on in

www.dafyomivicc.org 47 © Yitzchak Etshalom 2012




